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Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY
Winter Examination-2015

Subject Name : Water Supply And Sanitary Engineering
Subject Code : 2TEO5WSE1 Branch :Diploma(Civil)

Semester :5 Date :4/12/2015 Time :2:30 To 5:30 Marks :70
Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Attempt the following questions: (14)
a) Inhoff cone is used to find out? 1)
i) total solid

ii) suspended solid
iii) satiable solid
iv) all of above

b) The PH of potable water is? 1)
i)>8 i) <7 iii) 7 iv) all of above

c) Fresh sewage is usually 1)
i) acidic  ii) no odour iii) no need to treatment iv) maximum BOD

d) The PH of fresh sewage usually 1)
i)>7 i) <7 i) =7 iv) 0

e) The gas which may cause explosion in sewer is ? 1)
i) CO2 ii) methane iii) ammonia iv)nitrogen

f)  Full form of DO is? 1)

i) dissolved oxygen
ii) direct organization
iii) dissolved oxide
iv) direct oxide

g) Sewage in dry form can be used as 1)
i) foundation soil
ii) building material
iii) fertilizer
iv) chemical for BOD



h)

)

K)

1)

Equation of arithmetical increase method
i) Pn=( P+1/100)

i) Pn=P+nl

iii) Pn=nl-p

iv)none of these

Full form of JTU?

i)Jackson turbidity utilization
ii) Jackson turbidity unit

iii) jack turbidity utilization
iv) Jackson turbidity use

What is effect excess about of lead of water?
i)content more than 0.005ppm

ii) content less than 0.005ppm

iii) content more than 0.05ppm

iv) content less than 0.5ppm

BOD in ppm

1) (Dob-DOi)ppm X dilution ratio

ii) (Dob+DOi)ppm X percentage ratio
iii) (Dob+DOi)ppm X dilution ratio
iv) (Dob-DOi)ppm X percentage ratio

Water works are generally designed with design period of
1)30 year 11)30 month iii) 25 day

The manhole in which a vertical pipe is used is called
using inclined pipe is called
i) ramp, drop manhole

ii) side wall , ladder

iii) step , ladder

iv) shaft ramp

What is MPN?

i) most potable number

ii) most portable number
ii) mega profit nitrogen

iv) mega potable number

Attempt any four questions from Q-2 to Q-8

Attempt all questions
Explain duties of public health engineer.
Page2 || 6

o
(S
X e 6‘,%‘
) @ﬁ@ 2
[3) V1] -<
==

e

year?
iv)20 year

where as the one

1)

1)

1)

1)

1)

1)

1)

(14)



2)

1)
2)

1)
2)

1)
2)

1)
2)

1)
2)

1)
2)
3)

Give importance and necessity of water supply scheme
Attempt all questions

What is intake? Explain different type of intake.

Explain layout of water treatment plant with neat sketch.
Attempt all questions

Give classification of filter. Explain any one with back washing.
What are impurities present in water explain it.

Attempt all questions

Draw a neat sketch of septic tank. Explain its function in detail.
Explain with sketch-drop manhole.

Attempt all questions

Differentiate between sewer separate system and combined sewer system.
Write short note on sewage sickness.

Attempt all questions

Explain BOD Test and their importance for sewage.

Explain the method to prevent leakage for maintenance of water supply mains.

Attempt all questions

Explain solid waste management and use of solid waste.
Draw different types of sewer pipes.

Explain with sketch catch basin.

7)
(14)

7)
(14)

7)
(14)

7)
(14)

7)
(14)

7)
(14)

3)
4)
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b)

c)

d)

f)

9)

h)

Attempt the following questions:

FolSlU  Slot oll QLUADL AotlHIS AURL B?

i) elect Aclls i) AeSs AALS i) AeAAHA AAls  iv) GUR oll oLl
Yacuas wel «I pH
i)> ¢ i) < 9 iii) = 9 iv) WL oll GLul %

st Ry Ui AHA A 3 Sla B?
i) AR iii) 2leNo2 ofl %32 oell
i) £3lL 8l iv) 9|3¢H BOD

st A% ol PH Ao A 3ecll sla ?
i) >7 ii) <7 iii) =7 iv) 0
gL A ol R0 WAl AR O ?

i)slolol SLRASAUE'S i ) A 20
i) At iv)oll A2\ ot

DO of Y3 olld AUl
i) dissolved oxygen

ii) direct organization

iii) dissolved oxide

iv) direct oxide

Y5l AU oll A% oll QLuloL ¥ I A © ?
UL oll HIElsH |l

ii)Hslol 12 ofl A Al

i WLAR

iv)BOD oll 2L2ARL Hl

AR el ol urul@ of ¥yt

) Pn=( P+1/100)
ii) Pn=P+nl

iii) Pn=nl-p

iv) Pn= (P-1/100)
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(14)

1)

1)

1)

1)

1)

1)

1)

1)



)

K)

JTU of Y3 o’

i) Jackson turbidity utilization

i) Jackson turbidity unit

iii) jack turbidity utilization

iv) Jackson turbidity use

As Rl Hi F2El YUHIRL Hi AUUR UUR 52 B ?
i)uHLel 0.005ppm &l ay

i) WaeL 0.05ppm Ul g

i) wHel 0.05ppm el ay

iv) Wsiel 0.5ppm Al ALY

BOD ppm ™l

i) (Dob-DOi)ppm Xilution ratio

ii) (Dob+DOi)ppm Xpercentage ratio
iii) (Dob+DOi)ppm Xilution ratio
iv) (Dob-DOi)ppm >percentage ratio

el st Hi qHeA A Bongel RR2s AW lHL 1A B,

i) 30 o i) 30 H(3ell ii)RU (o iv)20 oy

AANA ofl 2iER ¥ Gral WSU GLUADL $cll Hi A A wa oAl wesy
A sdclHl waA B,

i), U Aetdlet
iU Al , o2
jii)eu , As
iv)Lse U

MPN 9] ® ?

i) most potable number
ii) most portable number
iii) mega profit nitrogen
iv) mega potable number
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Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

Q-4

Q-5

Q-6

Q-7

Q-8

1)
2)

1)
2)

1)
2)

1)
2)

1)
2)

1)
2)

1)
2)
3)

Attempt all questions
18 URLRA 8¥AR ofl $%1 UMl

well Yrasl Aol ofl wdlldl wa s3RAA AHHLAL.
Attempt all questions

o285 9 B 26825 ol (Al YsIRA UHHA.

well ol 9(&s20L Wtloz of L A2 €1 Aal UHHLAL.
Attempt all questions
(3ceR of collswl 5A.5 As s Aol A A=A

well 1 ¥cll uygl umesaAl.
Attempt all questions

Als 35 ofl 2l A €1 U Aoll s19031 Umestal.
uis(@ €131 wHesal : QLU Adtdled

Attempt all questions
WAL WJUR Aol U5l RJUR AR dglalcd AUl .

A ofl ol UR gselled el
Attempt all questions
BOD U3letll Aol dof Hecel AHXIA

Ale? Al A ol stnaell 12 cllder westal ofl Al AHstal

Attempt all questions
tlol $URA oll GLUAIL Wal cllRUURL UHLAL.

RYUR ULSU oll YEL YEL SR UMl
sl €131 AHeal: 3 Ar{let
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